
Honors   Chapter 1  Test
Name ________________________________________

53 total points

Complete the following. Place answers in the blanks and show all work when appropriate. Remember that numbers without units (if they exist) are important and must be manipulated in solving an equation and reported as part of the answer. The point value is indicated in parenthesis either in the question of after the answer blank.
1.
Convert the following using the conversion factor(s) in fraction form.  Show your work. Show work either below or to the right, then place the answer in the blank.


a.
34 mm to km  _______________ (2)
b.  84 sec to hrs  _______________ (2)


c.   60 

 to 

  _______________ (3)

2.
Set your calculator to scientific notation form, perform the following calculations and then express your answer as your calculator expresses it. (Don’t forget that your calculator is now set in scientific notation form. (2)
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    _____________________

3.
Simplify the following (2 each)


(a)


 ___________________
(b)  

 ___________________
(c)  

  ___________________

4.
Solve the following for the quantity that is in bold type. (2 each)


(a)


  ____________________
(b)


  ____________________

__

19

5.
Express the sum of 3.65 x 104 m and 2.17 x 10-4 sec.  ____________________ (2)

6.
To express how well one has accomplished an experiment, one does it by reporting: (2)

8. 
__________________________   

7.
Will Jason who is twice as heavy as Jim use (more than twice as much), (twice as much) or (less than twice as much) sun tan lotion as Jim when at the beach? (1)  Explain (2)


___________________

9. A cone of height ‘h’ is cut to a height of ‘

’. How many small cones filled with sand is needed to fill the large cone? (1)  Explain (2)


___________________ 

9.
Two spheres are constructed using identical materials. One sphere is 4.6 times greater in diameter than the other. The cost of the material in the small sphere is $12.00. (a) What will be the cost of the material in the larger sphere? (a) The spheres are now coated with gold. If the gold for the small one costs $3546, what will be the cost of the gold to cover the large sphere to the same thickness?


a.  ____________________  (3)

b.  ____________________ (3)

10.
The following measurements were made of the resistance (R) as a function of the power consumption (P) of a tungsten filament lamp with the following results:



Power (in watts)
52.9
2.2
27.1
5.7
12.3



Resistance (in ohms)
3.4
1.6
2.9
2.0
2.4


Using the PwrReg function (

) find the value of ‘a’ and ‘b’. Then express the relationship in equation form using ‘P’, ‘r’ and the values of ‘a’ and ‘b’. Remember that the equation has units.


‘a’ = ________ (2)   ‘b’ = ________ (2)     equation is _______________ (2)    units are _____________ (2) (bonus)

__

22+2

11.
Two small metal spheres when charged electrically are found to repel each other with a force ‘F’ which depends on the distance ‘d’ between the centers of the spheres. (a) Find the final mathematical expression with units.

Force (Newtons)
30.8
2.78
7.73
1.93
17.4
4.34

Distance (meters)
9.0
30.0
18.0
36.0
12.0
24.0


a.
____________________ (4)


Print using the TI Graph Link:)


(b) the data table (2)



(c) the graph of F vs d (2)



(d) the graph of F vs whatever d that gives a straight line (2)



(e) either the linear or power regression information. (2)
__
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